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PCH Chapter 1 and 2 (No Calculators Permitted)

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. ~Jx? =
a. -x d. x
b. #x e. none of these

(&) Kl

2. Rewrite f(x) = ,xz = 1| as a piecewise function.

="

¥ —-lxec-1

— 2
7 ¥ —lx=1
ag faxy=14% wl=-l=x=1 d. f(x)=
2_4 1 X +1x<1

x -1x>

o — Ll
b. f(x)= e. none of these

=1 x<l

x =1x20
o -]

—5* 1 x20

Multiple Response
Identify one or more choices that best complete the statement or answer the question.

Rational Functions. For each of the following rational functions, select all that apply.
VA = Vertical Asymptote
HA = Horizontal Asymptote

| o
o Lk(ngk (x—=2)(x+3)

a. one hole e. noVA
“[b> no HA f. oneHA
I" . i
1 ¢.) one oblique / slant asymptote no holes
4. two VA one VA
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Name:

p—

i
(x— 2)/(\2x+&)§x Q
/- 1)QF +1)
Q-

’ no VA
+7" one oblique / slant asymptote

" two VA
one HA

(G2ben
x’fl(x+w

’ no VA
" one oblique / slant asymptote
no holes

N
bl VA

6. y=|x[-2

{a) even
< odd
(2,

_y-axis symmetry

4, R(x)=

5. R(x)=

neither ¢
4 'C( \) =
x' +4 ©
S Z. f(X) =3 e | 1
X —X ‘iG. \‘)w ~M,:—— = 1.
@ neither
b symmetric about the origin
A even
/d./ odd
( [
e | i i
x| { !,')4 ! | X
8 =y SO
X“4 X
odd
no symmetry
/ symmetric about the origin
/d’ “ neither
e

symmetric about the origin
no symmetry r,wm

neither
not a function
" -x

<»< >
-~ «ﬁi

9. ft)=N>x “L< -X)= fT:xﬂ""X

Sl
&

one hole

/e./ one VA

one hole

X-axis symmetry

not a function

symmetric about the origin
no symmetry

ROX

?
y b
+

N .X
A

r
J

no symmetry

/f@/ y-axis symmetry

X-axis symmetry
/l( not a function

i

not a function
x-axis symmetry
even

y-axis symmetry

@@\\

_g~ x-axis symmetry
y-axis symmetry
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graph and the term it algebraic property. Pick as many as apply

Match each function with the symmetry of its

Hl=x—2
‘ I O(/ p >
symmetric about the origin

/ notafunctlon
-/b/. 5%: even

odd )
@/‘neither / g\ no symmetry
i x-axis symmetry

/dc” y-axis symmetry

Matching ICQ\ = X

ly = -+ X

Given the graph of f(x). Identify the following transformations.

el 4
e
'\&%L

i

none of these.

A 11. 1/1(x)

b onow
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Name:

Sa I e

18.

19.

20.

21.

f(-x)

- =D

1) |
()

Match the parent function with its graph

a.

AL
b. \
d.
) ==

X

f@) =Nx +c,e>0
fo)=x""?

=5 ird %‘,/

=
.
e

h. none of these



Given the graph of f(x);

i

Note the graph of f is tangent to the x-axis at x = 1, and continuous for all real numbers.

a. (—4,) e. [-4,-2]U[1,1]U[5,»)
b. (-4,-2) U (5,) f.  (-4,-2]U[5,0)

c. (-0,-4)uU(-2,1)U(1,5) (~o0,0)

d. (5,) h. none of these

@' 22. solve f(x)20 _41, *Z]U[! g [ O
Q 23. solve f(x) <0 < aD “,,.

../f’
\&QE 24. find the domain of 1 >J(I {)
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Name:

. f(x-2)
. f(2x)

%ﬁ%%ﬁ%@

f(x+2)

2 f(x)
1/2 £(x)

. f(2x)

Identify the graph of the following transformations.

i e
-+
A

none of these
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Name:

_éz 31, f(x)+2
j((% 32. £(1/2x)

Given f(x) =ax’ +bx+c

-b
o /e./x:()

/b/ parabola opens downward 47 one x-intercept
parabola opens upward g~ x-intercepts
% d/ h. none of these
(T
34, Ifb2—4ac=0 \

35. The x-coordinate of the vertex is
36. The real zeros are
37. To find the x-intercepts

38. To find the y-intercepts let

LaiGl= i

39. Ifa<0

Match the function with its domain

a. (-,0)w(0,2] e. none of these
b. (-»,2] f. [0,2]
c. (-0,-2]uU[2,o) g (-0,2) U (2,o)
d. (-»,0)u(0,2) h. [-3,2]
40. + +3
ftx) @ Nx+3 [~ °, 77
41. gx)= v
V2 5

oo, 0¥ 9
e */X_——W ln ]QQC/, >
4—-—?———&-%'* ,

43.

Sl e

44.

( i s 1 [C> {L
g = =
g
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Use the following functions:

1) = N9, g = [5-x, hx) = =

s |

a. [4,5] e. ('0074) % (47 5]
b. (-,5] f.  (5,%)

c. (~»,4] g (-»,4)

d. (4,) h. none of these

b‘ 45. Find the domain of ( fo g )(x) D
COrri\‘:‘i‘f‘fé: Dg

E o . el
46. Find the domain of h(g(x)) ”}E )

\

I"ne¢

e e ey a R ety
X
D=l 00
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Name:

> e

3

Match the polynomial function with its graph. (Note graphs represent continuous functions even though not
all of the graph is visible.)

G 0 (O (O ) 1 9
i

BN
~J

TN
[0e]

iy
O

. f(x)zxz(x—Z)B(x+2)

L ) =% (x-2) (x+2)

. ) =X (x-2)(x +2)°

[ |
T

none of these




Name:

True/False
Indicate whether the statement is true (A) or false (B).

50. An even function has x-axis symmetry.

Sl k=%

52. The horizontal line test is used to determine if a graph is a function.
53 ff@))=xand [ (fx)=x

54. The domain ana range of f and f' are interchanged.

55. If (a, b) is on f, then (-a, -b) is on f'

10
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